	Prénom : ………………………………
	Date : …………………………………………………………
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	50 x 2 = ………

50 x 3 = ………

50 x 4 = ………
	5 x 50 = ………

6 x 50 = ………

7 x 50 = ………
	50 x 8 = ………

50 x 9 = ………

50 x 10 = ………


· Calcule :

	7 8 9

x       6
…………………


	3 9 0

x       4
…………………
	5 7 5

x       8
…………………
	6 8 8

x       7
…………………
	9 4 2

x       9
…………………
	8 3 7

x       5
…………………


	3 0 7 2

x         6
……………………


	4 5 2 1

x         7
……………………
	9 1 0 4

x         5
……………………
	1 3 7 0

x         7
……………………
	9 1 5 8

x         3
……………………
	4 1 9 6

x         4
……………………


· Complète :

	1 6 4

x       ..
8 2 0
	2 2 5

x       ..
1 3 5 0
	5 9 3

x       ..
4 7 4 4
	3 5 8

x       ..
 1 0 7 4
	8 0 6

x       ..
6 4 4 8
	4 8 2

x       ..
1 9 2 8




	. 4 . 

x     3

7 . 4
	. 0 .

x       6
1 8 3 0
	. 2 .

x       4
2 5 0 8
	8 . 7

x       5
. 1 3 .
	. 0 3 .

x         8
3 2 . 1 2
	. 2 0 .

x         9
6 4 . 2 7




· Pose en colonnes et calcule les opérations suivantes :

	
	
	
	

	342 x 3 = ……………
	510 x 4 = ……………
	361 x 5 = ……………
	352 x 2 = ……………

	
	
	
	
	
	
	
	

	
	
	
	

	684 x 6 = ……………
	506 x 5 = ……………
	447 x 8 = ……………
	930 x 7 = ……………

	
	
	
	
	
	
	
	

	
	
	
	

	8 x 3 841 = ……………
	9 x 5 049 = ……………
	7 x 4 830 = ……………
	6 x 4 513 = ……………

	
	
	
	
	
	
	
	


